201447 H 7T H

avo)—rDRE BE 4 (BEXEH fRE R

TR K4
1
a b c d
TJ—AEVT 4— AR AT R ETR MAME BANT 7K B
2.
175 kg/m?3
3.
il & o MHANME KIEEVE
4.
1000 U v bJv
5.
TREER FEMRE2-1
W/C=50% (C/W=2.0) THEMEIRED 28N/mm2, W/C=40% (C/W=2.0) THEHEIRED 43N/mm?2 72D T,

JEMEIREE & & A 2 hKEL (CIW) ORI f=a+bC/W 2R 5 &,
28 =a+ 2.0b, 43=a+25b a=32, b=30

L BADT, JEMERE L A2 A (CW) ORIEREAIE,

f=32+30 (C/W)
AON/mm2 D=2 7 ) — hERYET 5720121, EXEHNT,

40 = 32 + 30 (C/W) C/W =2.4
LA, Lo ThaiZe/KtE A FEolL, 12.4=416%F7-13 42%

EfE: 416% HHWNT 42%




ITAREER HFERME2-6

(1

w/ _Exloo 53.4%

2)

Pas0 «100 = 45.5%

A 80% 62+ 98%.69

)

174 326 801 986
1.0 313 262 2.69

Air =1000 - [

5%

j—49.6 U kv




(% AEM & BEAKEDORE ] L0, sla=44%, W=175kg. Air=6.0%.

sla b W Z#HET 5

X457 7= sla DAIIE W O E

FLEIR (2.802.65) | —0.15 | — 0'115 x0.5=-0.75 —

Z2 B (6—4) ) +T2><0.7:+1.4 +T2x3:+6

WIC (0.55—0.54) —0.01 —o0l x1=-0.2 —

0.05
18 As/a=-0.75+1.4-02=4045% | AW =+6%
HIEA% Dl s/a=44+0.45=44.45=445% W =175x(1+0.06) =186
v AL FEC =@=344
0.54
B odeRia =1000 - 20 3% | 40— 665
1.0 3.15

AE# & S =665%x0.445% 2.62 =775
FE 4 8 G = 665 x (1—0.445) x 2.60 = 960

0.4

AE ok Ad = 344 x > —1.38K
AR 100 g

a7 U — hORTTEA

BN | 2507 | KAy | Z25& | WEH HiprE (kgim®)
DK DA N=a % K AL | WER | MBS | IRFA
~HE wi/C sla k
(cm) w c s G Ad
(mm) (%) (%) (%)
20 8.0 54 4.0 44.5 186 344 775 960 1.38




BEIE : AT 7% dem /NS5,

X5y s/a DA IE W D IE
AT 2T (12—8) — —(12-8)x1.2=-438
H i — AW = —4.8%
IR O — W =186 x (1—0.048) =177
Ay hiC =TT _ 308
0.54

177 328
B o7 a =1000 - —— - —— —40 = 679
R 10 315

AEH &S =679%x0.445% 2.62 =792
FH# 8 G =679 % (1—-0.445) x 2.60 = 980

0.4
AE Bkl 5 Ad = 328x 2% —1 31k
AR 100 J

EE®Da 7 ) — bR FEA

HEM | AT707 | KeAv | ERE | MEM Hirs (kg/m®)
5N DHIFH = =S 7K A A HEH | B
~hik wi/C sla k
(cm) w C S G Ad
(mm) (%) (%) (%)
20 8.0 54 4.0 445 177 328 792 980 131

()




